2022-10-13 Jussin baarissa

2 pbytad, 4 paria. Jakomédrd: 27. IMPs across the field.

Lopputulos

Sija Pari Pisteet Nimi J-ID Kerho
1 3 38 Matti Rintala - Jaakko Viima 3024 2080 Salon Bk
2 4 24 Anneli Saneri - Robert Saltin 1959 2966 Ei SBL:n jidsen
3 1 -22  Varpu Honkakoski - Helena Hanninen 1254 Salon Bk
4 2 -40 Tuure Salminen - Ilkka Tommila 2962 Ei SBL:n jdsen
Jako: 1 Jako: 2
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
41 4ax E -2 9] 300 6 -6 23 460 W = &A 420 0 0
23 2¢ W -1 410 50 -6 6 41 460 W = &A 420 0 0
Jako: 3 Jako: 4
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
41 3v E -3 ¢A 300 5 -5 41 3N E -2 ¢4 200 7 -7
23 2N N = &A 120 55 23 2¢ W = &5 -110 -7 7
Jako: 5 Jako: 6
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
41 3e S -1 vK -100 3 -3 41 3e S +1 aA 130 5 -5
23 5vx N -1 ¢3 200 -3 3 23 2N S -1 a5 S50 -5 05
Jako: 7 Jako: 8
Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
23 IN W12 ¥5 -150 10 -10 41 44 W -2 ¢10 100 6 -6
41 3N W+l @] -630 -10 10 23 3&a W= a9 -140 -6 6
Jako: 9 Jako: 10
Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
41 2v E 13 ¢K 200 9 9 31 5« N = vA 600 10 -10
23 49 E = A5 -620 9 9 42 48 N +1 5 150 -10 10
Jako: 11 Jako: 12
Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
42 2¢ N -1 ¢vA 50 8 -8 42 48 E -1 oA 50 5 -5
31 3N E = a5 -400 -8 8 31 40 W = o7 -130 -5 5
Jako: 13 Jako: 14
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
42 1le S = aA 70 5 -5 42 5« N -2 aQ -100 8 -8
31 2¢ W+l &6 -140 -5 5 31 44 W+l &A -450 -8 8
Jako: 15 Jako: 16
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
42 1IN S 12 5 150 6 -6 31 2N W 4 5 400 7 -7
31 3N S -1 ¥5 -100 -6 6 42 2¢ W -1 aA 100 -7 7
Jako: 17 Jako: 18
Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
31 24 W +1 #5 -140 8 -8 31 3a E -1 &2 50 6 -6
42 3N E 12 o2 460 -8 8 42 3a E +1 ¢A -170 -6 6
Jako: 19 Jako: 20
Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
43 3N N +1 %6 430 6 -6 43 3N N +1 8 630 10 -10
12 3a N +1 vA 170 -6 6 12 2N S +2 &8 180 -10 10
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Jako: 21 Jako: 22

Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
12 6axx N = &5 2070 16 -16 43 2N W = &9 -120 11 -11
43 44 N +1 8 650 -16 16 12 3N W+3 «10 -690 -11 11
Jako: 23 Jako: 24

Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
12 4o S -2 aK 200 9 9 12 3v N = &5 140 6 -6
43 40 W = o4 620 9 9 43 2¢ W = vK 90 -6 6
Jako: 25 Jako: 26

Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
12 2v N +1 ¢7 140 2 -2 12 IN S +1 a2 120 0 0
43 IN S = o4 90 202 43 1e S +2 #3 110 0 0
Jako: 27

Pari Sit LK Tulos Pisteet

12 3a S -1 vl] S50 2 -2

43 2¢ W = &A -110 -2 2



